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Projections - projecting evenly
Spaced points will

stay evenly spaced.

of
me- Is the
projection
of the sum
the sum
of the te why isthe projection of
Why is the projection
ł+ 3=atb ?

Re
progections?

Yes

 (3.4) 9

%,/5)=
0
7 What is the length of the
projection of avector?

The length of projection
of ĉonto (4/5,3% ) is 4/5.
- Îonto (4/5, / ) is 3/5

(1,0). ( / ,% ) = 4/5+ 0 = 4/5
(0,1). (4/5 )= 0 +3/5= %
(3 ,4 )= 3 i+4 Î û& project onto i
3 (4/5 ) + 4 (3/5) = 24/5 same as dot product
(3,4 )•("/ % ) = [3 4 ][ 3 ]
congruent
u-unit
vector
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is Project ontoau?
you would project then scale.

, (2,3)•(4/6 % )-2.4/5+3.9

- The length = % .

- x = /5. /5 = 0 % (6/ 5, 5/ 5)
y / % 5/ 5

(12/3,8/3).(5,20)
rector 60/13 - 10 / 3 = 16 / 3 = length
(5,20)
I

Suns
 x = 160/13 -12/13 = 1920/ 69 161920 Do

169
y= 160/3 5/13= 800/110 (1220,800)

Project w onto y proju(w )

scaler
Hilo )i
same as (20 ) et
= (6 ) -(Twelt
ex lule v122+52²
2 12 +5²
= 12.12+5.5 =(%ow )


